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Winter Addition

Solve the following word problems.

John has 5 snowballs, Peter has 4 snowballs and
Mary has 3 snowballs. How many snowballs do
they have in total?

Ava made 6 snowflakes, 4 reindeers, and 9 stars
out of paper for her winter decorations. How many
paper decorations did Ava make in total?

Olivia collected 5 pine cones, 6 acorns, and 4 twigs
for a winter craft. How many items did Olivia
collect in total?

Sarah baked 7 gingerbread cookies, 5 sugar
cookies and 5 chocolate cookies. How many
cookies did Sarah bake in total?

There are 5 red ornaments, 6 blue ornaments and 2
gold ornaments on the Christmas tree. How many
ornaments are there in total?

Santa has 8 reindeers. He also has 4 elves and 2
snowmen. How many characters does Santa have
in total?

Ethan received 7 presents on Christmas Eve, 3
presents on Christmas Day, and 3 present the day
after Christmas. How many presents did Ethan
receive in total?

There are 3 snowmen in the park, 4 in the garden
and 5 in the backyard. How many snowmen are
. there in fotal?
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